
  
  

  

  

  
  

  

  
  

  

  

  

  

  
  

  

  

  

  

  

  

  

  

  

  
  

  

  

  
  

  

  
  

  

 

 

 

https://www.prbx.com/about-us/standards-and-policies/
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[VAC] 
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https://en.cosel.co.jp/product/optionparts/H-SN-61/


 



 

𝑉𝑜 =  −1.526 × 𝑉𝑇𝑅𝑀 + 15.91

𝑉𝑜 =  −3.367 × 𝑉𝑇𝑅𝑀 + 36.44

𝑉𝑜 =  −6.010 × 𝑉𝑇𝑅𝑀 + 63.09

 

       

      

   

   

   

   

    

         
   
   

    

      

    

 

 



 



𝑅𝑟𝑐[𝛺] >
𝑉𝑒𝑥𝑡[𝑉]

12[𝑚𝐴]
− 150[𝛺]

 

 

 



 

 



 

 

 

 

 

 

 

𝐿 = 𝐿105 × 2
105−𝑇𝑐𝑎𝑝

10
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°

°

 

 



 

 

 

°

I
max

 : Maximum output 

current 
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